Jolimark

HR =

24

GSX-540K




GSX-540K

GSX-540K
GSX-540K )

: FP-530K. KY-540K FP-5400K




GSX-540K

..................................................................................................... 1

L e ettt en e s 1
L e et 3
..................................................................................................... 7

2 L et 7
2 L et et 7
2 e e s 9
2 3 e e 10
2 et 11
2 S e e e e e 16
2 e e e et 17
2 e et 17
2 e e e 19
................................................................................................ 51

B e e 51
3 e ettt et et s e e e e s enee 52
3 e e e e 52
B ettt et enee 53
3 S e 54
3.6 N ettt 55
B0, L et 55
30, e et e 63
30,3 e et 71
3 e e ettt et e e e e nee 78
B L e 78
3T e et s 79
3 3 e 80
BT e e et 81
3 S e 82
................................................................................................... 84

L e st 84
B et ettt 84
3 ettt 90
Qo et et et et 95
S e et 96
O ettt 99
AT e s 102
ettt et st 103
....................................................................................... 104

S e et ettt eaees 104

5 et st 109



GSX-540K




GSX-540K

GSX-540K )
/

7 [13 / 2 7 7
GSX-540K ) ( Centronics IEEE1284 ) (RS-2320C)
GSX-540K 24 , LQ ( ) 66  ASCII

(66Cps)
360dpi ( ) X 360dpi ( ) )
) . DIP
) VuePrint™

OKI 5330 EPSON LQ-1600K



GSX-540K

68KB )

Roman, Sans Serif, Courier, Prestige, Script, OCR-A&B

K

: NW-7, EAN-13, EAN-8, Code 39, Industrial 2 of 5, Code 128 B&
C, Interleaved 2 of 5, Matrial 2 of 5.



GSX-540K

1.2

(1) o 24
(2) e DP, LQ
e DP, LQ
(3) ° : 24
[ J .
o : 0.20mm.
o : 200
° : +38V.
(4) ASCII: 10 cpi 12 cpi 15 cpi
) 200CPS 240CPS 300CPS
° ( ) 120cpi
e LQ: 66CPS 80CPS 99CPS
e LQ( ): 360cpi
6.66¢cpi 13.3cpi
) 89CPS 178CPS
° ( ): 180cpi
° 45CPS 89CPS
° ( ): 360cpi
(5) °
10cpi, 12cpi, 15cpi, 17.1cpi, 20cpi,
[ J
6.66¢pi, 13.3cpi.
(6) °
CPI 10 12 15 17.1 20
80 96 120 136 160
°
CPI 6.66 13.3
53 106
(7) e ASCIl 96
e 32
e 48
) .
° : NW-7, EAN-13, EAN-8, Code 39, Industrial 2 of 5,

Code 128 B& C, Interleaved 2 of 5, Matrial 2 of 5.

(8)

1 DP (Draft)

7 LQ (Roman, Sans Serif, Courier, Prestige, Script,
OCR-A/B)

1 ( GB-5007)




GSX-540K

) e ASCII
Draft LQ
10cpi 12(H) X 24(V) 36(H) X 24(V)
12cpi 10(H) X 24(H) 30(H) X 24(V)
15cpi 8(H) X 16(V) 24(H) X 16 (V)
17.1cpi 12(H) X 24(V) 18(H) X 24(V)
°
6.66¢Cpi 27(H) X 24(V) 54(H) X 24(V)
13.3cpi 13(H) X 24(V) 27(V) X 24(V)
: H:
V:
H: 1/60” , 1/80” , 1/90” , 1/120” , 1/180” , 1/240” , 1/360”
V: 1/180” , 1/360”
(10) e 1/6, 1/8, n/60, n/180, n/360” ( )
(11) e 6” ~15" ( 17 )
(12) [ : 68KB.
° : 384 .
(13) e 325 /. )
e 72mm/s. (1/6” )
(14>
NO YES
YES NO
(15) ° : .
° : 8+0.2mm.
° ; 10+0.3m.
° 2 (10cpi DP).
(16) .
Epson LQ-1600K.
OKI 5330
(17) e AC220/240V+10%  50~60Hz.
(18) [ : 198W/180W ( ).
) : 11.3W/11.8W.
) 15 : 5.1W5.4W.
(19) ° (MTBF): 5000 ( ).
° (MTTR): 20
(20) ° : 5C~35C
° : 10%~80%RH ( )
° : -20C~55T
° : 5%~85%RH ( )
(21) ® 417*325*205¢( [/ | )




GSX-540K

(22) ( ) e 5.7KG
(23) .

. 89~256mm (3.5” ~10.1" )
56~381mm (2.2” ~15" )
0.065~0.1mm (0.0026” ~0.004” )
45~85g/m?

)
101.6~256mm (4.0 ” ~10.1” )
0.065~0.22mm( 0.0026” ~0.009” )
45~85g/m?
( ):
1 +3 ( 1).
1 +6 ( 2).
( : 34  40g/m*)
)
: 5C~30TC, 10~80%RH
30C~35C, 10~60%RH
1" (4 ) el BT
B L1 1 e
Iﬂ-‘ﬁl-lﬂ:l: ’w mmm:u:mmuf :1:'3:'@7;
Printable ares
-
135" T we)
e e (te P 2.
04" (¥ raw] # Lscamplend: prnling ama (e Maw 1)
8 A o AP i |
" 6
Note 1: ) . )
Note 2: )
) VTOP
, ( ).
Note 3: )
Note 4:




GSX-540K

°
5C~30C, 10~-80%RH
30C~35TC, 10~60%RH
1" (25.4 mm) 1" (25.4 mm)
. " Min. 0.59"
{’l‘;“;n‘f;;? NG 7 (5mm)
o on R 772, e
. Lo
° to
]
]
1
Printable area 1
(First page) '
:
t
]
I
]
1
1
024 (6mm) | | _;_
]
0.75" (19 mm) o !
i 1
1
1
]
]
]
Printable area :
(Last page) '
:
]
]
i
]
H
o
° / Incomplete printing ;1' : °
5" 127 mm) 4_ ° vy, mea(SeeNoed) 77 1.
e o
? Approx. 0.35" (9 mm)
Note 1: 5 o »
Note 2: ) .
) VTOP .
) ( ).
Note 3: ) .




GSX-540K

2.1

211

(a)
(b)
(c)

Assembly, Armature T

Assembly, Solenoid . Print Head

(LR
@i

\ ' I J Assembly, Nose

. Paper

Wire, Print

Ribbon, Ink

Platen



GSX-540K

(1)

Spring, Armature

Armature

v\

077
Re—

‘é

Stopper, Armature Assembly, Solenoid

Spring, Wire /__

Wire, Print ~—_
Ribben, Ink

Paper j Paper

=< T

- | ~

(1) Atrest (2) While printing



GSX-540K

2.1.2

(e)
(

(a)
(b)
(c)
(d)

f)

PCB

HP

(g)

(1)

)-

2.54mm(1

450

(2)

CR

(3)

/' Frame, Carriage Guide

- SA, Carriage

SA, HP Sensor PCB

SA, Carriage Motor

)

;
%,
\

Belt, Timing

Y
b

L2717 )

LTIy

\Y,

Shaft, Carriage

SA, Pulley L (Unit, Ribbon Gear)

o)



GSX-540K

2.1.3
(a)
(b)
o 1. 2. 3 4
(c)
(1)
’ 4 .2 1. 2
3 o : 1.
2 3, 1 .
o ’ 4 | ,
1 .
(2)
Back Tension Leaf Spring
Slit
Ribbon, Ink-
P, Cassette, Ribbon
\ ~ Gear, 4th, Ribbor.
‘ %‘ Ribbon Gear Train Gear, 3rd, Ri.bbon
Gear, 2nd, Ribbon

Gear, 1st, Ribbon \
~ ) )
PUS A
\ &, \0‘ i
& ) \’5}\
: :::’. \ P X 3
3 Gear, Motor

\ Gear, Ribbon Feed

W Gear, Ribbon Feed Idle

SA, Carriage Motor

10



GSX-540K

214
(a) (e) /
(b) (f)
(c) (g)
(d) (h)
(1)
[
() / )
° , (
. )
. 2 “B” 3 “C” . ,
° , ,
° ( ). —» 1
( 2 “B” ) —»
( ) . ' 2 “A”
., — >
Roller, Friction SA, Platen

/
/

SA, PF Roller

Gear (SA, PF Motor) Rolier, Friction

/
Spring Cut Sheet Paper

SA, Tractor Drive Shaft

Gear 2, PF Idle "A"
Gear 2, PF Idle "C" Gear, Platen

Gear 2, PF Idle "B" Gear 1, PF Idle

11



GSX-540K

° ; .
L d >
. ( .)
) 2 “B”, 2 “B” 2 “C7
. ( , .)
) 2 “B” 2 “C” )
° , . ,
° . ( ) —» 1 .
28 . —> 2 “c”
TP .
( ) . —>
2 “p” —»

Roller, Friction (Rear) SA, Platen

Gear (SA, PF Motor) SA, PF Roller
Projection (Lever, Selet) SA, PF Motor

Fanfold Form

)\

Roller, Friction (Froat)

Flapper

SA, Tractor Drive Shaft

Gear 2, PFIdle "A”™
Gear 2, PF Idle "C" Gear, Platen

Gear 2, PF Idle "B" Gear 1, PF Idle

12



GSX-540K

(3)

Spring, Friction

Lever M, Friction

(Projection)

SA, PF Roller (on the rear side)

[Friction feed) [Tractor feed]

13



GSX-540K

(4) /
(1) T(2) ¢ ” ,
b b o (
) ) PCB
( ) ,
, CPU
( )
Cut Sheet Paper Projection (Lever, Select) Fanfold Form
< / \’w / —
[REAR] | ,\
Flapper 1
Spring -
Select Lever Sensor
[Friction feed] [Tractor feed]

14



GSX-540K

(5)

[No Paper)

HP Sensor PCB SA

Home Position Sensor

Paper End Sensor (Rear) UD\ Lever, PE Switch

Select Lever Sensor

Sensor

Main PCB Unit
Paper Sensor PCB SA Paper Slant Sensor

m

\ R
Paper IN Sensor  * Paper End Sensor (Front ) '/\/

Paper [No Presence]
AN

[Front])
» PE . » PE
) PE .
L] / «C )/
« ) .
PE . PE )
X «C ) .
® «C )/ « )
« ) . « )

15



GSX-540K

2.1.5

113 »

0.05mm.

Lever, Adjust

Bu’shing L, Carriage Shaft

Platen

16



GSX-540K

2.2
2.2.1
(RS-232C)
( Centronics )
Ro
PCB
« )
« )
(1) &
+5V (Vee) +38V DV ( )

(2)
CPU. ROMS. RAM. IC.

17



GSX-540K

(3)
3

(4)

24 0.2mm
(5)
(6)

C n

(7) ( Centronics )
(8) (RS-232C)

18



GSX-540K

2.2.2
(1)
PCB
| ]
. EEPROM __\|  Flash -
| 1KB —  ROM |
: ¢ (] ROM 1MB |
7 ( )
o ] e
CPU = 7| 128kB | .
M37702S1AFP |
() e o

“““““ T ==

I | Centronic

M65135FP <>

N

............ o : <|_>
| |

|

|

|

19



GSX-540K

(A)

(B)

(C)

(D)

(E)

(F)

(G)

CPU
CPU (M37702S1AFP)

ROMS

512KB ( Flash Rom)

SRAM
128KB SRAM

EEPROM
1KB EEPROM

b4

CMOS ,

COM

Centronics I/O

20

1MB

16M,

ROM (

16M



GSX-540K

(2)

OOO000OH

01FFFFH

200000H

27FFFFH

300000H

400000H

500000H

700000H

71FFFFH

73FFFFH

800000H

CO0000H

FFFFFFH

RAM (128KB)

ROM (512KB)

1/O

ROM (128KB)

21




GSX-540K

(3)
HP Sensor PCB SA
ya
Select Lever Sensor ’\
' }11] Home Position Sensor
Paper End Sensor (Rear)
Main PCB Unit
Paper Sensor PCB SA N Paper Slant Sensor
Paper IN Sensor - Paper End Sensor (Front)
[Front]
[Sensor Locations]
(3-1)
PCB \_’S_C VCC
I !
] I IC3
rs2 PTS rL :CN10 RN13 Custom IC
) e
W o ; ] R ens
2l 5 "TAT:L 23
1 -O O ‘ ;
PI6 O |
Home Position A\ e < L'_ l r
S > [
ensor / |
| I
LED 2|/ 4 I l
Phototransistor  [HP Sensor PCB] | | [Main PCB]
, IC3 23 (HPSENS) “« 7
) ) , IC3
23 (HPSENS) 7
IC3

22



GSX-540K

(3-2)
) PCB
vCC VCC
O~
4
IC3
<RS5 RN13 Custom IC
5 RN13
FTSENS 22
¢ AM SLCTSW
PI1 1 3 6 nwy » 3
Select Lever y__ > <
Sensor
2 4
yir
[Main PCB]

, . , IC3 22 (FTSENS)

2 2

. . IC3 22 (FTSENS) “© 7

23



GSX-540K

(3-3)
) PCB .
€« ”»
VCC \_/gg
||
. * 3 2
| | T 1C2
pra ;P3| |FF(RN2 CPU
R51 1
AAA 1 O O 1 6 7
Al AT 212 514 FPESENS 14f,.
1 3 31 | -3 | PINSENS 13
PIS AT T STy P54
Paper End Sensor |y | < nS O‘j RN12
(Front) m L= T T
2 4 | |
1 3— | |
P14 H i
—>
Paper IN Sensor Y- < = t
5 y i | MainPCB)
(Paper Sensor PCB] | |
, 1C2 (CPU) 13  (PINSENS) “« 7 .

24



GSX-540K

(3-4) ( )
« )
« )
vCC \_’gg
I l 3112
i i RN12 e
PT4 i P3| |FF CPU
RS1 AN E
—1Y o-—1+0- 61 |7
. r X AMEMNE S 4 _FPESENS 14},
&4 1\ iy
PIS z ol 1o j - PINSENS 13} .
Paper End Sensor | W | < ate g—.’l’. 8RN12
(Front) | |
2 4 i ! S
1 3— | |
Pl4 N . i
Paper IN Sensor Y - : l
2 3 i | [Main PCB]
{Paper Sensor PCB] l |
vce vCC
-o-
3
, IC3
=R54 || RN14 Custom IC
3 L —
6 RN14
RPESENS 21
PI2 1 3 3 l'l'l' 7 PESW
Paper End Sensor | W | 3 <
(Rear)
2 4
7
[Main PCB]
) . , IC2 (CPU) 14 (FPESENS) IC3 21
(RPSENS) “« 7
) ) . , 1IC2 (CPU)
14 (FPESENS) IC3 21 (RPSENS) “©7 )
/ A ( “ON” “OFF” )

25



GSX-540K

(3-5)
PCB
, 1C2 (CPU)
) , 1C2 (CPU) ,
VCC VCC
2
i
=RS3 RNI4 CPU
7 RN14
. m SCESENS 2
PI3 1 3 8 A AA 1 P67

Paper Slant Sensor h 4

2

A
1*"‘)7\

-

[Main rCB:

”

, . IC2 (CPU) 2 (SCESENS) “« 7

26



GSX-540K

(3-6)
< >
+3
Low Mid High
(105 «——— | (110C) |g— | (1207C)
+3 ( )
< >
+2 +3
Low Mid High
(105 |g— | (110C) |g— | (120%)
+3 ( )
vCC 1c2
! CPU
! R3 |
Print Head CN4_L B4
Head Temp 10 O———rﬂ _l_ HTEMP 1: P70
Sensor EE c4
Thermistor 14 o l
T J’
% [Main PCB]
IC2 (CPU) 1 )
2 b 1 2




GSX-540K

(4)
(4-1)
6
(SDCO04) : 4 ) 24
NO. 1 |
+38V rLCN4
L-?— Head Pin
IC3 Coil Current
Custom IC ‘ TRAS sipigi g
r-=s=-=-=-=-=-== .
b2 1910 sipi | ' ®
RNS ', ¢ :
66 HPDI 7'ZD'* ,)
HPD1 71 ﬁ,] . : E T
]
| S S ! .
SDCO4 . |
[MamPCB]i
,  HPD1 “ ) ) i1
SLD1. T1 HPD1 T
, SLD1 : i2. SLD1
ZD , i2
Tl
Current flowing time T1: 200us
HPD1
@ S——
1.1A

Head pin coil current

+72.5V

ov

28



GSX-540K

(4-2)
(SLA7026M )
*CRMC “« 7 ) QL . ’
R18 R19 oVv. , COMP1 ( )
“« 7 , comMpP2  « 7, QL . ’
i1 ( )
»  R18/R19 COMP1 (+) , COMP2
« ”, Ql Ql , CMD4
DX. Q2 CMP2, +38V
> i2. ) Q1 » R18/R19
oV, COMP1 “«o7 ) R14 C38
1C3 +38V
Custom 1C e TRA2 SLA7026M
S 6 e T
[ REG—[L
| C— o
vee = - ‘
mf Ris 3REFA| )\ COMP :'l["
R13%~:}¥'c37 %cao0 RSA r’l/ = ;OMPZ
7 ‘ . Wy y
R18 R19 1y DX o n ------- i
2 4l ;iz "—‘
vee VvCC !
Trsl6 CvH g :
T T o | ol
prelTs CVHL | | i Al
R E)iome |
po7 |74 _CVH3L ER—— E 51“" g}

29



GSX-540K

a | g A e e
t
F I (TR SR WINRRRSEEE PR P a——-
Ll g e p——t e e e Y S -
O
o
£
R et S ] e EE s
=
v
3 z g
& o Wm. sa = o
S © 53 Q3
04 '5Ye} [5]e]
|
™
I o
V 1
O AN
4  ~ .
H o
>
(@)
~~~
U ~
[a
@)
< 2
Q N
=~ N ..nw.U
~ —

<2-phase exciting method> Active "Low

...............

m (@] [a)
$ £ 3 =
g & 85 8
& & 9 5

Moves 1/60".

"

<1st-2nd phase exciting method> Active "Low

...........................

Moves 1/120"

30



GSX-540K

(4-3)
4 TRA1
IC3 I
Custom IC !
—————— RNI TRAI _LCNl
1
PFMA 32 - PFMA 4 A 5 1 INI OUTI 15,16 PFMDI1 O Papcr Feed
Motor
2
pEMC 134 PRMC 31,5 16 3 1 \y oyrp 1314 PFMD3 12 @
3
PEMB |22+PEMB 2} 17 5.} iN3  ours [HLl2 PEMD2 15 fws]
4 |4
pEMD |35, PEMD 1], (8 7 11y oure 210 PFMD4 13
PFMVH |3
IC2 T
CPU |
!
P55 l
!
S [Main PCB] |
1st-2nd .
) IC2 (CPU) PVHI1L )
DTR1 TR1 . , +38V. PVHI1L
“« 7 , DTR1 TR1 ) +5V (Vce).

31



GSX-540K

(4-4)

IC M51953A.
I1C2
CPU
VCC ;Cl
eset Pulse Generator
7 6 *RESET 28
vCC ouT ' » RESET
) ] . 1 .
C1 N DC GND ——1 :l:
;J; M51953A
, +5V (Vce) ov 4.25V
IC
Td R (44 ” (44 ” Td
IC2 (CPU) . Td 34ms.
( ?
+4.25V t
N o
VCC (+5V) / |
| o [ B
Power ON Approx. 34ms
CPU (IC2)
*RESET

32

2



GSX-540K

(5)

(5-1)

—~

™ = - e

m B &

N = H ® [l

= X " N =

oj(o ™ o -0
-

(A)

(B)

33



GSX-540K

(5-2)
GSX-540K
® ASCII
1

“« ”»

13 »” 13 / »”

13 »” / 13

<« ” « / ” « / ”
~

ASCII
0000 0000

I"#$%&’()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\|* “abcdefghijkimno
I"#$%8&'()*+-./0123456789:;<=>? @ABCDEFGHIJKLMNOPQRSTUVWXYZ[\|* “abcdefghijkimnop
"#$%8&'()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\|* "abcdefghijkimnopq
#3%&'()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\|* _“abcdefghijklimnopgr
$%&'()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\]* "abcdefghijkimnopgrs
%&'()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ[\I* "abcdefghijklmnopgrst
&'()*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ\|* "abcdefghijkimnopgrstu
'(*+-./0123456789:;<=>?@ABCDEFGHIJKLMNOPQRSTUVWXYZ\* “abcdefghijkimnopgrstuv

H
0000 0000

PRG. Version: BHO0100XX PRG. Date: DEC-20-02

FONT Version: AKO01XXO03 FONT Date: AUG-08-02

HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

34



GSX-540K

0000 0000
.. Vo el 0 IO T I (II] £x s AVEINUEIVLIILNO ] f=2~o
xELICD>OLU 2, 7 CSE % § Nk X O@OOSTMAAX <1 L 212345678910

11.12.13.14.15.16. 17. 18.19. 20.(1(2)(3)(4)(S N6 X TH BN 910 D(12(13)AD1UN1NIN D D B D B ® D O @ )OEEEE)
BONONE) T MY VVIVIVIIIX X XTXT 17 # & () *+ -./0123456789: ;<=>70
ABCDEFGHIJKLMNOPQRST UVWXYZ[\]~_~abcdefghi jkimnopgrstuvwxyz{|}

*xxx HEXADECIMAL DUMP  ****
(0000) 1B 34 41 42 43 44 45 46 47 48 49 4A 4B 4C 4D 4E .4ABCDEFGHIJKLMN

(0010) 4F 50 51 52 53 54 55 56 57 58 59 5A 0D OA 1B 35 OPQRSTUVWXYZ...5
(0020) 41 42 43 44 45 46 47 48 49 4A 4B 4C 4D 4E 4F 50 CDEFGHIJKLMNOP

(0030) 51 52 53 54 55 56 57 58 59 5A 0D OA QRSTUVWXYZ. .

35



GSX-540K

(5-3)
VuePrint ( ).
(44 / ” (44 / ”
CITIZEN GSX-540K
1
#iE
EPSON OKI
ASCII
g ROMAN SANS SER  COURIER
PRESTIGE SCRIPT  OCR-B OCR-A
Bik L F
10CPI 12CPI 15CPI th 4]
i
6LPI 8LPI
5 7 & £XEH A4 12 ¥+ 14LEGAL
_ i
L Ao
A
vin
2E 7
e ZE *®E FEI R ELA
EEFL  BA 0, FEI  EEFI BTEH #E
LEGAL
2
RAM FLASH
i
* #
vin
* 0.3% 0.5 1.0#F
e 0.5% 1.0 2.0 %F
vin
001 002 003 004 005 006 007
008 009 010
*
19200 BPS 9600 BPS 4800 BPS 2400 BPS 1200 BPS 600 BPS 300 BPS
110 BPS
NONE ODD EVEN
8 7%
1 2 4k

XON/XOFF DTR

36



GSX-540K

(5-4) VuePrint

@
@ / 3
)
(A) ,
(B) , “
, « / ”
EEPROM )
©) (A) (B) :
@
@ )
@ ,

37



GSX-540K

el om0

=

A

t NN

TR

[ =1 ]

CITIZEN GSX-540K

*iE
EPSON
ASCII

k-
PRESTIGE

10CPI

6LPI
5

]

HIET 1
LEGAL

RAM

19200 BPS
110 BPS

NONE
8

1

OKI

ROMAN
SCRIPT
BEXF
12CPI

7

SANS SER
OCR-B

15CPI

8LPI
7%+
vin
28

2455

7

B
& E
B A

& E
B

0.3% 0.5
0.5% 1.0
7
002
009

003
010

004

_9600 BPS 4800 BPS 2400 BPS
ODD EVEN
74z
2 4%

XON/MXOFF DTR

38

e
&I

1.O#
2.0%

COURIER
OCR-A

B4 3
14LEGAL

A 12

=33
FTEM

XA
#E

A2
BIEF I

005 006 007

1200 BPS 600 BPS 300 BPS



GSX-540K

(5-5)

(A)
VuePrint )

(B) (T. O. F ) T. O. F

a.
“ / K T. O. P
1/60”
: 1/60” 17 . ( 60 )
b.
“ / 7 T. O. P
1/60" .
: 1/60” 16” . (10
T. O. P .
® (B) @. @
@ ¢ 1 CC < ] ) 3
® < 4 v < 1 ") 3

39



GSX-540K

(C)
©
@ “«
119 / »”
©)
a.
144 /
b.
119 /
©
@ 144
@ <«
(D)
3-7-4 «
(E)
3-7-5 “

/ »”
1/60” .
: 1/60” 15/60" . ( 15
/ ”»
1/60” .
: 1/60” 15/60” . ( 15
(C) @. @
»” ( 43 / »” )
bl ( “« / bl ) 3

40



GSX-540K

(5-6)

ON
OFF

ON
OFF

-1

JERERE

ON
OFF

ON
OFF

ON
OFF

ON
OFF

UL

ON
OFF

ON
OFF

ON
OFF

ON
OFF

= J55E

41




GSX-540K

(6)
(6-1) Centronics (|IEEE1284 )

[ ] :
° : TTL
o

DDK 36  57-30360
ELCO 36  57-40360

) 3
(B)
/ /
1 STROBE* IN 19 GND
2 DATA1 IN 20 GND
3 DATA2 IN 21 GND
4 DATA3 IN 22 GND
5 DATA4 IN 23 GND
6 DATA5S IN 24 GND
7 DATA6 IN 25 GND
8 DATA7 IN 26 GND
9 DATAS8 IN 27 GND
10 ACK* ouT 28 GND
11 BUSK ouT 29 GND
12 PE ouT 30 GND
13 SELECT ouT 31 INITIAL* IN
14 AUTOFEED* IN 32 ERROR* ouT
15 NC 33 GND
16 GND 34 NC
17 CHASSIS GND 35 HIGH
+5V (max.
18 36 SELECTIN* IN
200mA)

(1) * .
(2) “HIGH” +5V.
(3) NC

(4) “CHASSIS GND” “GND”

42



GSX-540K

(C)
DATA1 — DATA8 8 » DATAl (LSB), DATAS8
(MSB).
* STROBE . “« o7 )
4(BUSY”
* INITIAL
* AUTO FEED “« 7 ,
AUTO FEED, ( CR)
) . 1BM , ESC 5 <n>
) CR
* SELECT IN “« 7 , DC1 DC3
BUSY . “« o7 )
BUSY “©o7,
(1) :
(2) :
(3) :
(4) INIT
* ACK . “« 7 “0”, BUSY
. * ACK
PE . ) “«o7,
* ERROR ) “«o7, ) “©o
(1)
(2)
* SELECT EPSON . “« 7 ,DC1
DC3 . “« 7 , DC1 DC3
TTL .
“« 7 : +2.4V 5.0V, “« 7 oV 0.4V

43



GSX-540K

(D)

<In the case of power on>

Power on

'
WRESET : oo oo

BUSY DS S, ]

*ACKNLG: l

SELECT J-- ..................

<In the case of data received>

patars:  — ..

*STROBE :
BUSY
d|e

*ACKNLG:
a : 1.0 psec Min. d : Approx 4.0 psec
b : 1.0 psec Min. e : Approx 4.0 psec
¢ : 1.0 psec Min.

* . Negative true logic
In the case of INIT signal received
more than
*PRIME 50 psec

BUSY I __________________________ l

*ACKNLG:




GSX-540K

(6-2)
A
| 000000000000
| f!_' *':“:-';'-c:*':_'-
= —il Ld
(A)
[ ) : 110, 300, 600, 1200, 2400, 4800, 9600, 19200
() 7 8
() 1 2
([ J
o
25 ( )
25 D ( )
(B)
/ /
1 CHASSIS GND 14 NC
2 TXD ouT 15 NC
3 TXD IN 16 NC
4 RTS ouT 17 CN
5 CTS IN 18 NC
6 DSR IN 19 NC
7 SIGNAL GND 20 DTR ouT
8 CD IN 21 NC
9 NC 22 NC
10 NC 23 NC
11 SRTS ouT 24 NC
12 NC 25 NC
13 NC
(1) =
(2) NC

(3) “CHASSIS GND” “GND”

45



GSX-540K

(C)

RXD (

CTS (

DSR (
CD (

RXD (

CTS (

DSR (

CD (

) XON/XOFF I/l

» XON/XOFF
) CTS
)
XON/XOFF 1/ )
XON/XOFF
) ,
13 ’7, 13 ” R RXD
)
, XON/XOFF I/l
» XON/XOFF
) CTS
)
XON/XOFF I/l )
XON/XOFF

46

”

» RXD



GSX-540K

(7)
@
A B C D
—» — —
E
@ A ( )
SW1
~E-.....§ F1 L2
> Ao o
: H C3

BE
“-_"—AI——_"
8
) "—H—L-HH
9

(F1). (L1). 2 X (C1, C2).
2 T (C3, C4) (L2)

L2

47



GSX-540K

® B ( )
— RC1
TH1
j:cu
(TH1). (RC1)
C5.
RC1 ( , C5
) AC DC.
@ C (
@) (®)
NI N2 NI T N :1
= - + rL
.+§ E _+§ E—’ ..... fﬂD
VIN
S S
| T
(a) S » VIN N1.
) N2 ) D
D,
S (b) ,
D) S
, S
Q1 S Q1

48

(C5)

(a)



GSX-540K

® C5 —» (T1) 8 —» T1 6 —» Ql—»
C5
(T1) ., T1 ’ 8 , 6
Q1 » T1 )
, C13 R8. R9 ) IC(z1) 7
IC ( 16V) ,» Z1
Z1 ( wov) , Ci3 T1
FB2 :{15 R22
l’ —e—
T’_l_/r:n Lgremaren
p2£ e £Rs fre  Tos ee L % 08
:L’R7 £Re + 2 3|E TG RnE  F R Foe w7
o1 f 3 1 3|E__ % : R i S
es= | a1 =&s r—wm—o B " { ! ZRX10
— ANy . D3 R12 E RX12! §RXJ~
oA P k| e
= 3 ] Tcia "3 *llpm =Q’"‘ e
S p— Y 21 : R21Z
v 72 Y —
¢ == FR10 I cx2 RxXe
t:)u-r-_j l o nxasEE = LI
nx:% ﬁ%c‘ L e T o] pom
® D ( )
FB2 C15 R22
T1 ,_:“ +38V
b FB1 E S -
1 L*'] _:‘;ma%aw Tz C16 Tz Ci9
RC2 1
2{5 N » +5V
+=z Cc17
T
1 (RC2), 1 (D5), (C16. C19.
Ci17), 1 (Z3)
RC2, D5, Cl16, C19 C17 T1 )
+38V . +5V (Z3) )

49

+38V

+SV



GSX-540K

@ E ( ) FB2 C15 R22
—Wr—
PR -I-ce £R6 5% Re ‘ Lij & 08 2o
’—T £ Rt $ho RSz RxnE  FAxe F 0o o7
D1 x 3 3 . . ,_.q_l z3 -
cerém As s N FRX10
m{ Y R1t }oa . 1'35%”5
) R13 c2 . l
— AN ~ ’1,
RX2 e roET¥) £ FAxs
g—— c13 “Jpc1 T VR
4 1 : R213
L 1 7 2 HW\'_—
c11 == TR0 T CX2 RXg
cxvr ? _]_ RX15| = I :%ms
c? = il
Rx‘% %1 Se2 ]— :I:mo rl:cm
IC . (PWM)
(Z2) +38V Z3 ( V).
2.5V,
, 22 ) PC1 . PC1
) . IC (Z1) 1
) . VR1 (+38V).
< >
+38V » Q1 . R10
. R10 RX2 71 3
1V, ,» Q1 )
, 71 ,
IC . (R6. R7) IC )
IC , ,
< >
+38V Z3 ( 7V) (D8. D6. D7)
, PC2 . PC2 IC
(Z1) . Z1 1 )
< >
VR1 +38V

50



GSX-540K

3.1

S O B WD

7. ,

(1C) (. : PU. RAM

ROM ).

ki

51




GSX-540K

3.2

6 300 )

( )

3.3
1.
2.
® 1 (Mobile Oil Co., Ltd. )
® (-311S (Kanto Chemical Co., Ltd. )
3.

DDDDDDDD Kovoooo 1 .,

DDDDDDD AK,...0 3—4 ( 0.2

aaaaaaaa * % %k

52




3.4

PCB

1
PCB

.................................................................



GSX-540K

3.5

( : PCB . )
1 1 3~4
( 200 )
2 1 4.3
( 100 )
3 1 M3
4 1
5 1
6 1
! (100 ! AMJ011-000
)
8 1
9 1 150
10 1 J9104-001
11 (30W) 1
12 1
13 1
BB09201-1
BBJ001-000

54



GSX-540K

3.6 N
3.6.1
:1.0“ (NO. )" 5 .1 “1-27
2. . )
* ;o kok ;o kokok
[ 1
1_4 1\ > >
1-1 2.

55



GSX-540K

1-6
1-7
1-31

1-32

PCB CN7

“A” .
113 B” ,

PCB

CN7

Llras, Suk Fretion Raller
L

Ezrmg, Release —— I I
Gulde

56




GSX-540K

1-8
1-5
1-2
1-7

PCB1

° » PHT
(PT), M3x8

PCB1
§A, Ope-pans PCB 1

Sheet, Ope-pane

(PHT (PT), M3
x8),
PCB1

FHT (FT), M2x8

id




GSX-540K

“A”

-~

S, Eead Calik-

[T T F e

T

i

1/
\xx / x

!
.__,_m%x H
0y

Fead Resawral Tosd

A hea e Fead Posoval Tool b ased]

[

T

1-10
1-12

58



GSX-540K

Shest. Hepd Cabie

54, Heed Cable

PCB 1. : PCB 5B

1-23 2. PCB
1_25 M3x14
1-21 ® ,

PHT (PT. PW),

M3 x 14

SA, Case L
1-9
1-30 1 PCB CN3  CN4 ,
(
).
2.

CN3

CN4

A, Hesd Tukile




GSX-540K

1-11 PCB 1. PCB CN2
. CN2 ) )
1-19 2. PCB CN10 PCB )
1-20 3. ) PCB
PCB o CN10 )
1-18 PCB 4. (M3x6),
1-16 14 » PH, 5. (M3x10)
M3 = 6 ( ),
1-28 ° » PH 6. PCB ) PCB
(N), M3x10
1-29 °

54 Scnal CFRCE L

PCB

B — Spaert (Hceagmm)

60




GSX-540K

PCB

ROM

=

FH, M3xG

1-24 ROM 1. . PN1,
1-22 3 2. (PH, M3x6), ROM
1-13 PCB 3. 5 .
1-16 L » PH, 4. (M3x8) (M4 x8), PCB PCB

M3 x 6 3.
1-15 ° PH 5. (M3x8) (PH,

(SW+PW), M4 x8 M3 % 6), PCB (

11-27 ° , FT, ), PCB

M3 x 8 6. )

PN1 PCB

61




GSX-540K

1-14

1-16

PCB

M3 x 6

» PH,

PCB

[Cable of i PF Motor 54

[(Small PR}

PCB

Unic, Mechanizs=

I'hiza

CN1

PCB

CN1
PCB , . ®
PCB PCB  (
o)
PCB )
1. 1C4 ( EEPROM ).
PCB
EEPROM, EEPROM
PCB EEPROM
EEPROM.
° .
° (T. O. F).
° (
).
°
2. PCB




GSX-540K

3.6.2
10 (NO. )" 5 : “2-57
2. ,
4 * X ; kokok
2-34
2-18
2-19

~
Krch ap

.
Bacoi. Gap Kk

63




GSX-540K

2-21

2-20
2-22

2-11

2-26

2-25

2-23

Sprinp, Sl Fecrion |
Specer, Paribh Lakch
.,

64




GSX-540K

H-\E. .-.-::. -I -'-'_'_ i
TF (5T), M3=h I'-T .-t=?=':'-..‘.., by - . [ .
- | :‘:' [ M [ 4 I

A r! o ™ . = I. .h‘ -\:\-\' ., -..:_.I..

o ’ * Floil (
° ),
272 (TP (ST), M3x6),
2-3 e , TP(ST),
M3 x 6
i’-_‘-“ Flolld & >
Twisred Tab |
'.ll' /
Ea, Camriage
i, Helder Palley B
o —— Prame, Carisge Quide

65




GSX-540K

Bushiag L, Carriage Shah

e —

Lewer, Adjust

Buashing L. Carriage Shalt

|Facioey 5= Posiison]

[ ]
(

66




GSX-540K

Felt, Risg
ol i ] oz e W

Shaf, Camiage

2-14 1
2-12
2-13
ff E&, Carriage
Projection

Shaft, Carriage

67




GSX-540K

“A”
ki

|"%hea resssembling]

Twiseed Tak

L2 ]
o
i
, !
>
A
_I_
i
g 3
% f
=]
Hl
o
£
[ ]
o
T
wn
a
F o
X
™
=
o
?
N

68



GSX-540K

2-4
2-3

2-6

2-5

TP (ST),
M3 x 6

PHT (ST ),
M3 x 16

(M3x6) (M3 x16),

Claws:

Fame 1, Dase

2

Floil

(

(

( 3-7
3-7-3 )
3-7-4 )

69




GSX-540K

2-10

2-11
2-1

A WN PR

ITnit Frriinn Bnller 1.

1-4

Lewer M, Friciion

Baoller, Prictins Lever L, Fislias

70




GSX-540K

3.6.3
:1.¢  (NO, ) 5 : “3-127 12
2. )
* ; kok * kX
[ ] ,
1. , , Floil
“A” (D), (@).
1-19 2, “g” (@),
3_13 “C”o
3. (@), :
4, ) (®). (
5‘ «D” A )
& (®).
(

113 B”

71




GSX-540K

3-1

2‘ “B”

“A”
ki

A, Paper Guide

“A”
o

72




GSX-540K

3-22
2-25
3-23
3-16

Lewer, PE Swisch

R T 4 T

AHE LT

- 34, PF Roller

1T EN B 5
G, Flamen
Kank, Flamn
fTE el
L
Lewves, PE Switch ]
EEERITR -@ﬂ_
24, FF FoPs o
ol g
[
¥
158
" A
Faoil % Wi

*

Floil

o




GSX-540K

3-2
3-3
3-6

3-5

(@),

(@),

(®)

* Floil

“A” , ,
“A”
ki

M. Tractkor Diree Shah

74




GSX-540K

Spnng, ASF Cover

{(Wiring Roale of PF Maoter Cable)

75




GSX-540K

— : _ T * Floil
3-27 2: ’ °
- 2 s D , cs 3.
- 3 | , 3-24
3-10 5. L
3-11 1 6. 2.0 , | |
3-14 2 X
3-15 2 [ :
3-8 ®(CS 3
37 ®  PHT (PT),
M3 x 8
Cam, Selecr

G4, Earth Wire

Spring, PF Idle Gear 2

2 Gear 2, PE Idie Gear 3, PF Idie, Bl
2 3

Spriag.. Seloc Crm

CS 3 CS-ring, 3 3. PF Moior

76



GSX-540K

SA, Frame R, Side

SA, Frame L., Side

Frame 1, Base

3-26

77



GSX-540K

3.7
371
@ “A” 3 “B” .
©) ( ).
2 “A” “B” .
Unit, Ribbon Gear

( )
Gear (5A, Carriage Motor)

SA, Carriage Motor

N s

Screw A

SA, Pulley L (Unit, Ribbon Gear)
( )

78



GSX-540K

3.7.2

),

2

“C”
2

7542

<« C”
o

3-7-4

Pulley R (Haolder Pulley R 5A)

-4
E)

ool M. WL



GSX-540K

3.7.3

@
@ . ( 2 )
@
@ ( 1)
0.5  +0.05
( 2)
®
@ ( 1)
0.5  +0.05
( 3)
® ;
® , . ( 3-7-4 )
1 E—— i Gap, Knob
C ) | - T ] @

|

Print Head r
Nose

il

|

Bushing L,

Platen Lever, Adjust Carriage Shaft
Figure 1 Figure 2
1 2
To widen Opening To narrow

D

Frame, Carriage Guide

SA, Frame L, Side
Figure 3 (Left Side View)



GSX-540K

3¢
3.7.4
)
@
©) PCB
1 .
2 “ (ON LINE)”
3
® DP .
« (ONLINE Y
3 .
« FACTORY DP
VALUE=XXX",
® LQ
€ /
(LF/FF) 7 « /
( DRAFT/LQ ) 3
“FACTORY LQ
VALUE=XXX “,
4 A,
« / (LF/FF Y,
B R €
/ 7,
( ,
1/720 ).
A B
VALUE= +030 VALUE= -030
() HHHHH () HHHHH
(<) HHHHH (<) HHHHH
() HHHHH | () HHHHH
(<) HHHHH (<) HHHHH

81




GSX-540K

(-)

VALUE: —030~ +030 (

1/720 —030/720
~ +030/720 ).
5 EEPROM “ (ON LINEY
1
EEPROM,
“H”
4 5 ,
6
3.75
PCB , , PCB

«C )

1. (BBJO01-000).

2. (g ).
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)
@) @)




GSX-540K

v

( BBJ001-0000 )

« )

1
2 119 / ”

/ “
3 T. O. “ / “ 3

F
119 / 119
3
EEPROM.

4

83



GSX-540K

4.1
: 1. , 3« ”
2. (CN...) PCB
4.2
? 1. NO
l< YES NO / )
PCB NO
PN1 > l
fYES NO/
)
PCB ? vES PCB
! PN1 ,
PCB

84

YES

YES




GSX-540K

< Tj/// ///// YES
[ ——— »
?

PCB
PCB
<
1: 4-9-(1) .
220V/240V : 180-264VAC.
2 g
? NO
YES
< '\V ? / YES
v
+38V > PCB Nommmmm
9 95 NO
YES
NO YES
< / ? /—P
v
PCB > I
PN1 ? NO

YES

< Ni;//// ) YES

PCB 85




GSX-540K

4-9-(2) PCB

+38V

CN

NO

YES

NO

=
@
FO

NO

YES

NO/

/// NO

YES

I\IO/
86




GSX-540K

PCB

”

<«

YES

YES

NO

NO

NO

YES

no

‘ YES

YES

NO

/

} YES

NO

CN4

CN3

/ YES
?

/

YES

YES




GSX-540K

NO V , YES
PCB
—>
CN3 CN4 ? NO
YES
p NV ) YES
v
NO |
?
YES
NO YES
< // ? ,L»
A 4
/ YES
? / >
NO
<

YES
? /4>




GSX-540K

o

D
@

YES

YES

CN3

PCB
NO
‘ NO
YES
N4
YES

YES

? . —»
YES
NO /
/
? YES
no
/
NO» ,
NO
/
NO

:
y
;

NS AT T

YE

|

89




GSX-540K

NO

+38V
9 4. i
YES V YES
PCB
4: 4-9-(2)  PCB +38V
4.3
CN1
? NO
YES
NV YES
< ?
v
NO )
?
YES
NO YES
X ©/ AN
v

PCB

90




GSX-540K

? YES ‘
NO NO /
NO
4»
CN1 9
YES
NO
NO
P
? 5.
YES
NO
< /
/

91

YES

YES

YES




GSX-540K

NO

YES

o

f YES

PCB

NO

YES

NO

YES

YES

no

NO

‘ YES

YES

/

YES

ENO

YES

92




GSX-540K

YES

e

-

YES

YES

y

ENO

PCB

”

<«

NO

YES

YES

Z

PCB

NO

YES

YES

NO/

93

PCB




GSX-540K

YES

NO

YES

YES

94

YES
? /Lb




GSX-540K

PCB

4.4

2 2-1-4(4) ¢ /

YES

YES

NO

NO

95

7




GSX-540K

YES

/ YES

/

>

4.5

NO YES
///// ? //////

I
D
.

8 3
> PCB
9 NO
YES
4
A 4
NO

-~

NC/ / YES

96




GSX-540K

YES

PCB

NO

NO

} YES

PCB

: YES
?

e

97



GSX-540K

¢

—»
9 NO
YES
V / YES
? <
PCB
P
CN10 ? NO
YES
p N(/ ) YES
v
YES

98




GSX-540K

NO

YES
At

PCB

PCB

>

YES
? /4}

4.6
: LED ( )
L
CN7 ? NO
YES
<

Z

/YES
? [l




GSX-540K

NO
+5V > PCB
? 9.
YES
NO YES
\ 4
PCB PCB
9: 4-9- (3) ) PCB +5V
NO
>

CN7 ?

YES

j =/ g

100




GSX-540K

PCB PCB

101



GSX-540K

N
(To Print Head SA)

(Paraile! I/F)

4.7
Main PCB
PCB
(To Carriage Motor SA)
CN2
1ds
=rx
jaz} <
5| |2
3 — —
1 CN10 119
PT6 (To HP Sensor PCB SA) i
c (To Power Supply PCB SA) PCR
1
PCB
PT1 CNS
(To Serial I/F PCB SA) =
PCB
N  PCB 18 36
1 (To Paper Sensor 12 CN7 1
PCB SA) I
PT3 (To Ope-pane PCE SA)
4
CNI1
1[5 PeB
«(To PF Motor SA)
Pow=ar Supply PCB
PCB AC Inlet
0
Fl TUT
N L

CN1

PNID (To Main PCB Unit)

PCB

VRI @

102



GSX-540K

4.8
1.
@
@ .
©) PCB (N) (L)
) 4-8 «PCB »
@ , (N) (L)
° , PCB )
2. +38V
@ PN1 ) PCB PN1 6
(+) 3 (=)
L ) PCB VR1
+38V.
° , PCB .
@ PN1 , PCB PN1
6 (+) 3 (—)
° ) PCB
3. +5V
@ PN1 ) PCB PN1I 1
(+) 3 (=)
° , PCB .
@ PN1 ) PCB PN1

1 (+) 3 (—)
® ) PCB

103



GSX-540K

5.1

1):

1.

Mechanism Unit (Paper Feed)

DRAWING NO.1

/ ..\

IEN \\.‘,

/7

-




GSX-540K

105



GSX-540K

DRAWING NO.2 Mechanism Unit (Paper Feed)

106



GSX-540K

3):

) (

DRAWING NO.3 Mechanism Unit (Paper Feed)




GSX-540K

Unit (Paper Feed)

DRAWING NO.4 Mechanism

108



GSX-540K

5.2
1.

1( 1)
1 1-1 1
2 1-2 1
3 1-3 1
4 1-4 1
5 1-5 1
6 1-6 1
7 1-7 , PHT (ST), M3x8 3
8 1-8 PCB1 1
9 1-9 1
10 1-10 1 1
11 1-11 PCB 1
12 1-12 1
13 1-13 PCB 1
14 1-14 PCB 1
15 1-15 , PH (SW+PW), M4 x 8 1
16 1-16 , PH, M3x6 1
17 1-17 17
18 1-18 1
19 1-19 1
20 1-20 1
21 1-21 , PHT (PT, PW), M4 x14 4
22 1-22 1
23 1-23 4
24 1-24 ROM 1
25 1-25 1
26 1-26 —_—— —_——
27 1-27 , FH, M3x8 2
28 1-28 , PH(N), M3x10 2
29 1-29 ( ) mm 8630-01-039 2
30 1-30 1
31 1-31 2
32 1-32 2

109




GSX-540K

2.

2(C 2)

O oo ~NO UL~ WN PP

NNNNNNNRRRRPRRRRRR
OUDRNWNRPROOWOM~NOOUNMNWNERO

2-1
2-2
2-3
2-4
2-5
2-6
2-7
2-8
2-9
2-10
2-11
2-12
2-13
2-14
2-15
2-16
2-17
2-18
2-19
2-20
2-21
2-22
2-23
2-24
2-25
2-26

2

, PHT (ST), M3x6

, PHT (ST), M3x16

PNRPRPNRPRPNRPRPRPRPRPNRPRORPRRPRAMANRPRREPRWLERESR

110




GSX-540K

3. ) 3( 3)
1 3-1 1
2 3-2 1
3 3-3 1
4 3-4 1
5 3-5 1
6 3-6 1
7 3-7 1
8 3-8 , PHT (ST), M3x8 1
9 3-9 CS 3¢ 3) 1
10 3-10 1
11 3-11 1
12 3-12 1 1
13 3-13 1
14 3-14 3
15 3-15 2 2
16 3-16 2 1
17 3-17 1
18 3-18 3 ( ) 1
19 3-19 1
20 3-20 1
21 3-21 1
22 3-22 2
23 3-23 1
24 3-24 1
25 3-25 4
26 3-26 1
27 3-27 1 1
4. / 4 ( 4):
1 4-1 1
2 4-2 1

111




GSX-540K

(1/10)

112



GSX-540K

8 L 9 | 5 y £ z |
oY
4qi dIVISZOLLEN 74
SSAY
dos }, dos L dos ) dok. ] 1 pis
W S e I IS WAt L SSACTTT vy
-t I wrr— 2
S0 LM £8d 49 ) q 34 29A UJ.. __\.._: g
26T @‘ b4 48 s Tu_ viseisn
-z T T4 v i 208 vod b0l 10s BARLLLS
a0y W T A5 )y
P 300 e
19-e CITIY W T I _vﬁ- g o ECE e 1
4VA T 2 amos W
108 C T — + 10xL/Led L LT ’ 4 ,
N -0 e 1xe/30d = sos oL 1ALl |
Lo Iy <37 ® 1197504 Lasnipyy ie] oS I 9| !
1o-8 ¢ TUITY ——337® 11s8/481/v8d . [Y7SHIDHI0-01
19-8 — 33 ¢ Qx-S 8d Sty it v7=K355t0-01
s o iy e e R
10-8 M T i 24 — B :
o et ”N&Mlu:, 251408127084 9td m P24 d53:0-01
P B T T P LY Lk A »K.,:lloﬂ.
r ! —
[) ] 708 1908 1,995 1998 1 608 190t L — i -
g e M e T Bt B T -t —— {1 oo
18-+ 26-5 29-1 S A o LA 10EYL/95d T p— ¥NA33 20-¢
18-v 70~ 187 §__ w3 AL M b4 ——SHISKI) 2v-6
29-¥ 79~ 18- § o o) $0/12Y ytvisisd —¢ 132333 rv-c
29-v 19§ 18- $ - yaso1y Hilyl/66d — { T Y37 10-¢
29-¥ 20-8 °29-T ¢ be w7 $0/E1Y 100LYLI/T5d b4 —— {71336 10-¥ '20-1
29-» o5 26-2 ¢ D —— g tasety Hioyl/siSdiyrT)—3 —{TRamS -z
10-7 78519 § 1] 10/41Y 1000Y1/05d [
26-v 10-€ 19-2 4TS 0a/stv tdt ——
- . 12-6
1] s 4t WES&S.E
¢ pye $10/51Y HI08L/83dIF— 1 :
-y MW\M mw.m. M ria/h iy LilLsred * {T738081¢ hw.m k220
[regsat $10/51Y L1Nl/89d Py Y LAt
4 irs O 10721y LH[/234 [T 95e
I 2-€ 11071 4Y NIFYLZ18d . - 0]
134 13-5 { 010/01Y 100¥Y1/034 ,
11 ers % - Swn« - "
104205 ¢ 6g. HvsLLd o 5 ..U 1 13-5
1-+720 ¢ Ar M SNY/9Ld ot 1—iias 62
>rzs bd .
Mul.«u.n [¢ Y SHY/Ld * SRS) 10-9
221225 § M VAT M SAISIVY L 3-01
13-4 TE TY-2 § o wu«“u: o ]
- MWM .M(.m ¢ tH INV/MLd *
>y zv-T § | s v
2+ -5 "tv-z £ ov oNv/0Ld A r:w e (YR}
i A-Hd-919
4 ) PALIRALIP AL
X X b: 2«% s Wy -0
1 4
B | [k
% tdL LI
axps
e A
SS_H
v T
1_535 t0-9
Xt '8 N
2 £y
2L-090XN00* I LSILSD Y
3 ¢ |
8 L _ 9 9 14 ¢ 14

t Diagram (Main PCB 1/10)

ircui

C

(2/10)

113



GSX-540K

]
l 3 : z !
d4ssism
T~ >
s —TT
789 ¢ » £10di
769 muu M tiadi
w3 ¢ ELE M 110dH
ze-9 an ) M otadi
16-3 ¢ ] > 610dit
24-9 ¢TTTUIN ) M 91041
te-3 YT > L10dH
9-9 & 112 3104 orps
-9 CTHIOY (31 $104H 2L
I3 &Y ® ¥10dH
93 & T £10dH
I9-3 CTTTad x ~{ 21041
v-3 TN 1 LiadH
AR Bt ZI57E) 0 -
e d o
Tv-9 ¢ LN 447 M $0dH SAISIN) 19-6
Iy-3 0N 117} L04i SSRISIT) -6
Tv-9 & RS 904H SHI§IdE) 22-¢
Tv-9 7 3] (2474 STUJH
2v-3 LT XA 12474 r0di
-9 ¢ e Wau mm“n 4 awmnu..._ 791
Tv-y d S 71 L0dH o
10-5 (7 13-¢
£0-5 &7 M Qo1
fes B e B
s 791 - - 13-t
< o3 o yredd -t
-5 ¢ . -0 T4
tv-5 (ORI 14 gy ariid
Tv-§ g ”Au } Fhad ¢ Te-L
o MI< £ I3 M ie-
Y¥-$ N3d ise 3 L i M «“.M
-t CIHV ° M 19-¢
T0-L 713 ¢ yyrgsdnvd * te-t
to-t {7 M qLas M T0-¢
20-t RN M 5934 oy . 2L
z0-¢ C7X% M asnt L
: STy A0 -
10~y ‘20-¢ ¥ TIV] (3~}
10-v 20-5 Sorrayrgus Fo 77| 13-1
Girmia T H g4 ¥ ool
N L emrEd 52001 v 1] Lo
0-r Hiirm ,
t; Srii) s : Sfias e,
fos 53} Zirats uum [ 19-¢ 19§
40 A0Y! * d [ 29-r Te-f
10-v 20-¢ {75083) 11 S22 n 075 a-r 201
q SorQnd M“'v .Mn.n
2o~ (CZXXRY gy, . crteei
d Ty M"“« T0-v Te-§
o fd itov
vy Tv-§ M SIV] 22-v 1%
Y-y TY-§ ] 2a-v 1o
o HEM LTIV E3-r T
tv-v Tv-§ i 23-r22-1 -
C 318y V'] 13-y 205"
8
| S z [ 1

t Diagram (Main PCB 2/10)
114

ircui

C

(3/10)




448
RI1IT] 2e-s
[ —~20{Ud310) ze-y
OND IR IO 74 WL
”wwuu TEHAVL .;._Aon YOS SSA » 'W.
—{ 108 Ivi{— .
29A }
E]] vol o L K >
oM s *d
[£1]
-
k= A
(Y"H] 1131 _\
o
lQIL oIl O
11021 & R Ao S0 A
ZEAn NO¥ 9°D ~0Zdrt
AL ! nod poud -6ldri WL
THEEANS 1/ND/riv) oros | oy sy Zgiart (T3
M e
(R/AL1S/1952) Awonan Hsy14/nod xms_u_h:: ! o NE 0D - «_.ﬁ. s dw
vy ot n SR hd reE/nY 073 7 HT) avonan wsyu XYY 228 Ty Lo
AOY000 1E70dN " m._.wwVM 39 1100196231 ¥ "W"MWH"
i e B ] . —— e i
b TUdr 2 30 T 1~y Lo~
EH 1ol 1sausozy [EEEe Tu_a ) * 1Pk YA S gt 1) 4 £ QN o
$3H T AOAM/6 Y [ETyra®Tare O urEv 135P v ee-t
sy por YL 1ea EE oy 3 ST
B - - Ly b B 1>-r L)
A 234 NMYFFY iy TV 1y 'te-t
ot Yy LM Bl v OND IV gy TTIv 3 -rie-t
! HM 40 e LA HE HM s b4 A
3 N O Y ~. o ——— 1 z Ty-L te-t
one m"« mm"mqium ti0 Ty —y| 294 1Y AE——1 9] 10~y "Ly~ te-i
Ty 5 14T 810 Ly Livhrr —— A g ¢ 5 S VAT T
Y1294 by $31a I 410 L3 A1 I A LA e 15 RS A S TR
oty t3148INBT 040 sy oivlrr
Y V514 SINVT 180 W N Y
P " 0819 IR¥T 80 ty M
Ly o o | m 5 b (oo Ly . .
sHIEM 2 sy 100 EM 13- 28-C 131
sa sy 50 M ~eq—717]500 s\ 507$ 10-¥ *10-E (D~
—yri0 v o M ~pg—37} 400 ¥y |- g ze-y 18-1 ‘13-4
r{so0 sy §o iy —grfs00 I} — 29-¥ '18-2 12
RS N e i
o E R M 00 1-v/5)0[f— 1000 M y———— 1 : et
000 oy — 0 ee-y 18- 1124
e 19 UM o A ey F 5 s RSN RENY
o1 L L $31 { )
{ L k
J[lJlllam 3rur]
LIEY ]
N T 1 14
{um“ 18 08 2 LT AV A4

GSX-540K

t Diagram (Main PCB 3/10)
115

ircui

C




o

(4/10)

GSX-540K

e
£
[ZH
"pu.- TsHAre
A
gE124
(¥'H] -
B
axos
i1
dog | ¢oc | do5 |,
1015] 0013|062 -
- $IE] ca-¢ 'Ta-1
131 :& 20-€ (97
{708 ) zo-5 st
- PAS Y (5=
Tinn 230 -t
Q-5 L9~
fad 1] FEER
Qs facay) ans]
1 9id
(i} ”ch_ T1%° 1 ¥r {¥'R]
28 "Ly-2 'Lo-
74 8D toorate tH 1ovedL v P
113 W 1 [¥ ! -
s n L1 At n H Yy 32-% 1421
3 Foii] inso k) A i 114 I £ R o
234 T sild SLY/ddA T o TV BLY/ddA A 73-5'18-1
. e el —— ke
qoL ® Lo -5 108
1i-e ﬂmmuH—l::J ot o_jjmﬂ “"« [ SEA1Y] o “"« 1 | 13- 18-
oxos [of T 3V TI-5Cte-l
7% B iy L HM 13- ‘L=l
Sit 1M sly — T3-§ 'ta-i
. oo YIvigy— & aHD PIY 1295 Tv-2 13-4
10 314 2 HM TI-1 Tv-1 "Le-)
s [Y'R) 352 Ty Ty T and T2-5 Iy-T -1
‘st NIME fmmm————= - A 1Y T3-€ "Ly~ 'te-y
) ) wob. oLy 2| [} uw éhuﬂ" o1y
oy [Me ' - 13
$82 o t 3 17 1 Re/NY - 9dl [
D Y 1 RL/NY - Lar oty
234 30 IV Lemmmmm - 30 Y 2 t8-§ 18- Ld-)
i3-6 o) 09 @ s0 Sy 50 &Y - 18-1 13-
HRECC Hos 1 0 4Y 1o ¥y S an
8-0) Mvn R o Ot 50 Sy [T - 198 'L0-C 1D~}
v-04 ¢ ¥77] [ 3 0 IYhgT w02y S 1 TS S T T AV
v-01 ¢ ¥-FK 2 @ 19 WY 101y 19-6°70-1 (-}
v-0i VA oL Qi-—pg— 00 oY)z 00 oy 1970 2a-6129-1 13-
SO ol L 0101 T9-€ L= "20-}
(1%
n
\ \
LT STRV ) 1v-g itv-L
~——y Tv-5v-1
(.loLm«HWIxa V| Tv-f "(v-1
g3 Ty-€ "ty
] I T I 9 I 5 | v | £ ] z 1

t Diagram (Main PCB 4/10)
116

ircui

C




GSX-540K

(5/10)

| 9 s | ¥ i * z !
aws
241
JERAT Y z9-4
\YJ:;M“:-_
anss sHos - "HRKT z8-1
141 4t xariio1af [ymyieataf Ixmritose B
H HEE e S ¥ SIS
wadii] I v h .l sty [red faew
e S L 1Ty Xiiazy st XIZIS L f (O H
:
Ximisty oy L siy ) i BiT it A
veid
om g LM ey Xt A dx) st X1 00§ xi Of
enot vy (3¢ £y (4} ] Ly oty
& v v b 1 n—.
agorz] , |'¢4d - TR T 8919 ) iy
[ 3] oro JdoolLe 1241
sfv| ol vd €| 6 pe
il 90 YO 9SY €334 Y33 YS¥ B
OREY ) (-2
pe P4 )L 1S _._»8 BNty b i b TS
s EAT: ) s § pr.m ux" Y —osmlio
b “W_WOI“l(So nIZOLYS NI m FYRIT) L
o v
5oL =
LS 9SA YSA val
[T TviL dory doty
$E3°T T ero
otid} ® |_|
6314®
Wy gy 3wy
Sl riy
M 24
LS Ivn
Ar/1) 81 1 stiase
[ oLl oy w
Ladr Wy T
B 1o o Mambir
40205 S q a0
Y100 GUD _Ll wr
1-USNUOH - :_sm ..:uv_|+ Ll Ly
st o9 Y e
N x“ - $£1n0  ONOI—Y xus't 9 13-
S P = mavan i i3t
o e I Hiie i It Jome AN TG
O 3* d—zr{iin0  iHt T T HIdj Lo~
[T'E) 1YL 1Ny
, _ 3 _ s _ g _ t : !

t Diagram (Main PCB 5/10)

ircui

C

117



GSX-540K

(6/10)

L 9 5 | v £ 2 !
¥020§ we
Y100 QKD
7] Hino oo
reisino oKD "
I o e
\ 4 T ><;<>< 241
Imu_m%:m 4 q‘_l, 1100 SAI AW 7103
—¥Taie ooz ® [Ir]in0 TRt WA FT0aA
—Tis 3° N0 NI LAJ 104iMN
IVEL NY
0208 brid
Y100 QHD
i i
4 N .
| —oiR o s
. Fr2ino o L SOV | —]17
AR —Hume mnas e
p4 H P
umm n.w - 1100 INY 12 11 T
LYdL INY
tv-1 IR 9 ae
Y vols 09058 o
% yiNO  OND
i Sl a
0
wd Yo | | o &
4 T
v 1215 —Haee eni 7
N=XA-19-34%1 FIg® I 100 NI t
— tide Tri1200 i 3
O SUTS svidlL
onps
° i 141 r020S yHy
o 191 v100 OO
s =
i A .
stEiEs | o & Vo)
L4 F U1 Ll W
e 11 — qe _‘j 0o KNI L EN
o LU 3 3y yrytino R T L[N
* 1100 ING ¥ Y] Fil
e ' c YHE
sval ) B
oI ot 112, L L FER:
.;lu. ¥020§ 11 ~—7103 | a-t
ﬁn . ——1103 FisERA
. (urT|rino  ano — 'y L3-
N-¥A-1R-34L1 it 1o o w di] 13-t
o] _ im0 ano ali pmm— 11 9t
o1 il e e
s e [yt iine o T——— g d Fiin T
Y205 XOTd Yino Nl 14 T893, 9 3 to-
o 12178 I gH ] Lo-Z
e
o yo208 br/e pom— Y oz
o ur]yino ano o103 (6.8
bl ) Y100 QND 3 ] a2
o 7rlsino axo PXAECE T ¢
: i i
o- * ] . "
o s - {2100 eni ¥ mun“ w—m Loz
o2 I —e1o15 _._l.||||.||._ 100 KL ¥ S fo-z
s sz 1100 INI ¥ an
19279
TE ﬁ y,
-
YLy
T ) I ¥ 3 4 _ t

t Diagram (Main PCB 6/10)

ircui

C

118



(7/10)

GSX-540K

an3s
a§t
3
any
-kx“ohu ~—~W =u* 0S¥
hyteghotagl dindhedbadindiafi ittt b JIA
"‘.Aneo— [ ]
v 80 " vl el
! 40001 :
! _moﬂm " 4
1 0004
om o5l !
" Hooo L "
) o-umn '
H kagos |
! L |
]
| S SR JEOGEDS PEGUINN R & ) . ot
C7Z177%] ta>-T
wos 71 -t
pis 3-T
(620) 80E9-03509-34L5 T CZAsn) “um
re CUWIIV] 132
ELID Al 22}
o
H ESAEESIC ST SN
o LM rra® b M...:. M"Sx 95y F U89
o Z3INT8 1247] :
o 1 ows L
?an‘lﬁnn“ & Jw NS AL 13 73D 22-2
m u"rn 24 4004 | —
b4 037 - .
1 r 190 kdAe 11'S RTINS 22~
- o H 40001 40004 40001 YT W CIEOrD 13-t
S getH L :.w-:u HERE1E) e e
N o .
oM guir] g ELECE ' (1) madier t4' s )£ 4 LiRIAAA 11 (Z380815>
& TS5 S ] YR, [}
i1 s it iy ol SRR AL
o e 2] I 2zey sy Fowu Fouw
I
7IX=UJ1 d7
o 4
15 : B
4 DA
22 . S [TUVIVEY 23-2
4 P {—aviva$ 23z
i , R
M [IVIVE) 23-2
: [ T |—gviva$ z3-¢
o £ g o
b ¢ AL W vl — ﬂauw 1a-T
L2 3 d e Tt {—eviva$ o
2
" b1y LB oy (TTIVIVEY €32
it TIVIVES 23z
o bl Lo L oo g
12319 1 125198 Y (221981 b gv!:n.n
vy (33 3.3 ov Ny B3 (53] e
Kk 47 A
%
8 | L I 9 | 5 v (3 [ H i

t Diagram (Main PCB 7/10)
119

ircui

C




GSX-540K

(8/10)

8 L | 9 ! s v | § | 4 | !
El
P ) T ]
(L
1 Iu anos
p————g+0 14t
3 aw | t r
oy Pl bandactagh 1o
—— 4 .\ﬁm%w_..uuﬂ\.ﬂu.mw-n‘ e :.u:. u.ww.. 10 o
S R T P S P ST X TR O R R T ] wan B =R
. _HH_._‘mL,(_.m\ﬁm\_.m\_ qrgrargraka, :.:_._ r— 1 Hmaﬁ -1
AOELSIIS [P e s P e e s DA s e s ] [E{IRELT ! 1 ! 83IT] to>-v
ot 2% e befuichsiadodndadimoiig TR o --L FPrS v
" ? TTTVIT 14 O YT H:a R 1L
.! T2 BUARLEL a:u}._: ¥ v O T
0109735 1824 131 0 o 1 Ty ta-i
L s hi— —s
| - ot 1] 0| I ot
| 7 . - . T = RES 13-4
(STl Ly 1 L EAML B s - A ool A
S + T
¢ " e TEt ey 2 A= O} .Iw ) B
O TOTVY T3 082d - rwl'\r.ivn - ll_ _Vrafr!loll‘ “ﬂmau«—lﬂ -1
a5 0 \ ! 23T} to-i
FosTsyirs 2Ty .z:... ,_--.L r 63T oy
' - Ioc‘v.. _m.. $d1d
3 A —- ——— :u:— . |I|_
— g20d 3INVd-3d0 gl
_Em oty ss¥
T ] B
.ﬁ- anos E
A trixorasssszal SE.M sdresen U
) TR IEL] __ Pa]
o >wm oa.% 14} TS R
4 b hidd LW o—y{e18 224 )
P R4 18k yo01 seza ¥ wes (VR (VH] wor
w10 ey - 5:: avs (YN i
] oy 100 re=n
a ot |r— —+10
o -0a {0 +
p| — :
& L ITIT m.<u iy |w|
N .
W wu aos A% A U Eups
J-uexues | 318vd -
[} o R s—u ) lnmJJ_ 1zLvadn uo:__.o
T T 1 9 1 (o
T — e ealite g —um
) ge—yyftHid zinow o— {3 -
© + e
Sy ot o -y {3e—i|iNiy  Tino = TTar —i ta-t
w M s L1801 LIRS
e ‘Ia‘lmu&\ %T rp o.Tl I.WI ﬁ VHIAET ru¥
- XL 1] [TT] \id -
rW.. TRO | ‘A ase >".. -3 >m~—.w lwx
IND ,nv.l _ 24
- GuAlo‘m + Iumeu =
gdd 471 v id3s 77 sS4 0oAf
% ol ,a—zu wu> .
h_smu “ —IQ _,:u -
Abs= AL - Adde
it :
1°0 852 IPI
WA
S 4 * i

~t
ol

t Diagram (Main PCB 8/10)

ircui

C

120



GSX-540K

(9/10)

L | 9 | s ] y i 4 1
Ll awos
e F3%Y
Eu Wwos
In_ 1-Hd-95§ i
[ YR
&) o AV {383 4224
It [ _ ba (P20 1] hioRing st
s [k o T —RORING £6-1
iA]] 'wl oy ° Ll T
— std sild wn
[y W) pere —
¥R B4
s W0y anos
1zoiNg 1201NO LZ01HO
414 * Tid he £id »
1]
ertd erzd Lvld ans
m 098 oalL e
111 5y 5y
e vt T .
voro Lreco Lioco Lt PXAE S
3 3 ES B g9 203 10T S T )
............. gLL e (YAIIITY 22-1
:-M,: L A [§R35338% a2
; 1.4 u::.m,. L LD 2o
PSS .
rxyscs BNY
£iNY — Hwi
e e e e o i o s = e = 9“ [
’\ 4 -
f VZOINO 10'0 oot 234
_ sid _Hl_...». | OEB 31aY2 A-SEX¥ON it
o _
s foli— L C -
| - A 1 124° M4 4 N " 4 1181} |l|.~l@~|l IRITID za-
IR i1 AR 41:] 1224 d T O PXAECE
s1d TH e |2 CiNy
b e ——— [qUT) ﬂ
}
80d YOSNIS d'H :
—— —_ 1
H
_ | | 4 o oy
1201NO seoino FTo 17050 L1 oot
RacHETE Eﬁ_ RN e i
[ I I A [ — siza 3 o
A SATED 22-4
$2¢) O 11+ —0 W T El o
_ " 1§22 14 o tH—+ e A% § IzuﬁmMuw 31
1 142 ammn {11 3 31 112244 P YXAE S
_ via 7] g 3| yxagcs  BINY
RIRLLT]

g0d YOSN3S dvd3d

PCB 9/10)

.

mn

t Diagram (Mai

ircui

C

121



(10/10)

GSX-540K

[t} aos
1-SEXUEH !
o H
bl 111" Py (SMISEVT> to-t
ot "L
YXE§ v I
$IND Liny JE
-0~
wadsi} >
0205 17
vy yr]rino  onof
L=SIHBEN Yino QHD{§—
_ [¥r]Eino  onol
> - 110 bamuml| §100  ONO |y 7= 0-
b6 RIT 3ir] [rjeine et L1144 v T=RI51 o
o5 I TLN0 NI 15t3% 14 V7= 1a-4
ORJY L3 4 uritino Il 3523¢ g R3] z0-1
(s Q0 1973 1o Nl 5523° S
e otvaL
na
1 CM;. k14
~HE NGO
i vm
o  S— et [SAISRETD 22-1
ot ! i
PITE) 66 |$
158 [f] om
L
™
vy
arns
+020§ e
H rin0  onoly—
Tﬁme...ﬂw-x = riN0  GHDI§— [t}
—oiriie s
T e —rH tno i rsra s ——4fw CUZRAT) La:y
o x_Jumm X o Rl 53¢ 1 L Y7-RKT| te-»
ryzat Jon i 1400 INI —1524% K40 WAL B Y-KX La-r
© 3 0373 g LELCANLL 111714 s
LIND Svat s
e
_ T _ 3 _ g _ [ £ _ 2 _

t Diagram (Main PCB 10/10)
122

ircui

C




GSX-540K

(1/1)

1
" s 0
I
1
1 <
| L S L o
gyt juy
| + +
)
] ween
.
Ase )| ” ] /Y. 1 “A
tr e _ e S uxx sa
ano
T
LA «| 20 fux na
s L] R
ANy v L a p— <
+ +
1= T
! -
] s
X < .
[} — _IFMul_ et
t
! Lo 4
{ wy
]
]
[}
f 4 1+.|V x
! .uvul ]~ _
! |
I b 1 |
! S 14 = an v s ]
1 = (o A )
_ [} | !
] n .ﬁ ¢ i
! V) n ot
! [P |
L
L | 9 | 5 | v | £ I z

Circuit Diagram ( Power Supply. PCB (220V) 1/1)

123



	规格说明
	特性
	性能指标

	工作原理
	各机械的工作原理
	打印头机构
	字车机构
	色带传动机构
	走纸机构
	打印间隙调整机构

	控制部件的工作原理
	打印机结构
	控制单元的工作原理


	拆卸及维护
	维护说明
	清洁
	润滑
	拆卸流程
	维护工具
	部件的拆卸、重装及润滑
	总装
	字车及色带机构
	走纸机构

	调节功能
	调节字车电机返回位置
	调节同步带张力
	调节打印辊间距
	调节打印位置
	调节纸斜位置


	故障检修
	引言
	打印机通电故障
	走纸故障
	色带故障
	传感器故障
	操作面板故障
	连接件的位置
	检查方法

	爆炸图及部件表
	爆炸图
	部件表

	电路原理图

